: STEEDA
1979-1993 CASTER CAMBER PLATE

Installation Instructions

Caution! Installing this product requires disassembly of some components of the suspension, I
you are not confident you can complete the job safely, have the work performed by a certified
techniclan who is familiar with the front suspension of a Mustang. Failure to reassemble the
suspension properly can lead to serious injury.

1. Raise the front of the vehicle, support it on jack stands, and remove the front wheels.
Consuit your owners manual for proper jacking points.

2. Raise one front control arm slightly with a floor jack. Support it just enough to take the
- weight off the strut.

3. Remove the large nut on the top of the strut and the three nuts which hold the factory
adjustment plate. There may be a rivet holding the plate in place. Remove the rivet
with a chisel or drill. Remove the top washer and strut bushing.

4. Slowly and carefully lower the control arm with the jack until there is room to remove
the stud-plate from under the fender. Do not lower the arm foo far or the spring wil
come out. Compress the strut for more clearance by pushing down on the rod. Push
hard because the struts are under pressure.

5. Study the Strut Height Adjustment diagrams to determine which combination of
bushings to use on the top and bottom of the Caster/Camber plate.

| Place the appropriate spacer (if needed) and steel bushing over the strut with the
small end of the bushing facing up.

Itis the responsibility of the customer/installer to determine the correct strut
height setting. Steeda is not responsible for damage to struts or camber plate
bearings due to incorrectly set strut height.

NQTE: These Caster Camber plates are designed fo be used with the factory dust cover
~ and bump stop on the strut. If you are installing new struts, the dust cover and
¢ _bump stop must be transferred to the new strut prevent damage to the strut,

efer to Figure 1 and Figure 2 for the following steps:‘

Pre-assemble the Bearing Plate and Top Plate. The Bearing Plate should be on the
bottom, with the bearing itself coming up through the center of the Top Plate. Make
sure the top side of the Top Plate is facing up. On 1979 through 1989 Mustang
plates, the top side is stamped with the letter "T."

- 7. Install the Stud Plate in the strut tower by reaching in the wheel well and sliding the
plate upward so the studs protrude through the slots in the strut tower.

Page 1 of 4




8. Place the Stud Spacers over the studs(on the top side of the strut tower), followed by
the Bearing and Top Plate assembly. Loosely install the three 7/186 flange nuts on the

studs,

You may have to move the wiring harmess out of the way to make room for the Caster

Camber plates.

9. Raise the control arm with the jack while lining up the strut with the spherical bearing
in the Bearing Plate. Raise the arm until the strut protrudes all the way through the

bearing.

10. Install the appropriate Strut Bushing over the strut with the small end facing down,
followed by the strut spacer (if appropriate). Again, refer to the Strut Height
 Adjustment diagram. Line up the strut bushings and push them into the bearing. If
the bushings are tight, finish pressing them in by tightening the strut nut. Install the
strut nut and tighten to factory specs (56-80 fi/lbs).

11. Tighten the three 7/16 nuis and two 3/8 bolts. Just snug them down, as you will be
loosening them again o set your alignment.

12. Lower the jack under the control arm and repeat steps 2 through 11 on the other side

of the car.

13. Install the wheels, lower the car and set the front end alignment: (Roll the car back
and forth to settle the suspension first.)

Caster is adjusted by loosening the two 3/8" bolts and sliding the Bearing Plate
backward or forward. In most cases you will also have fo loosen the three 716" nuts
also. (The double clamping of the bearing plate is a safety feature.) Most cars
respond best with more positive caster. The recommended staring point is to push
the strut as far backward toward the fire wall as possible, for the most positive

caster.

Camber Is adjusted by loosening the three 7/16" nuts and sliding the plate left or

right.

14. Apply thread locking compound to the threads and tighten the 7/16 nuis to 50 ft/lbs.
and the 3/8 bolts 21 - 25 fi/lbs. Be careful not to over-tighten the small 3/8 bolts,

Recommended Camber and Caster Setting_s

1979-93 Mustang: Camber Caster:

Drag racing-no street use -.2° As much as possible (3° or more)

General street use -7° As much as possible (3° or more)
| Aggressive street handling -1.2° As much as possible {3° or more)

Road race / Autocross -1.7% 1o ~2.5¢ As much as possible (3° or more)

*More negative camber {-2%) gives better cornering grip and more wear on the ingide edge of the tire.
*Less negative camber (-0.5%) gives less cornering grip and more wear on the outside edge of the tire.

& Steeda Autosports Inc. Al Rights Reserved 2502

Page 2 of 4
553-8079-2 535-8090-2 instructiceplate?9-03+2.doc 1219402



Figure 1
Exploded View

Nete:
Steck struf height shown. See 1880-1953 plates pictured. Instailation
reext page for strut height options is the same for 1875-1989 piates.
—— STRUT NUT
- STRUT SPACER
3/8" BOLTY ™~  SHORT BUSHING
THIN WASHER (SILVER)
~ 7/18" FLANGE NUT
i N R, - TOF PLATE Figure 2

Installed

STUD
SPACER

ADJUST
CAMBER

LONG BUSHING
(GOLD COLOR)

STUD PLATE

555-BREI~Tiast ug




IoNVEYIND HOd
o068 18NG 40 Jd00
NOHS H3gRNY ML

3]

YO wE
AIDT POINAO] RIS dppois-reip-redue i

Bayoul €47
TR X0 PeIeA0] SINAE RPTUal-HI0IS<
110} UNyes SHjj 85

sdejs omi dn

w1 LNV 1O dlx o

salou: O] weg
I PasAA0] “TNNS HI0)S-HEG-IOHOY

goug 1 opdn poissog 1o
IGEIRG P No0s FINGS YonE-Imy-1edio g

el
W) BIORE PRsHA0] ‘SIDGE HUNEP0IS<
1103 dmjes sy asn

dejg sug dn

BRI G
) L POrnA] SR ROUE- LRy

sayowm 771 0) dn paamol Jo
\ B0y AP A0S YA NN fBusapoig<
10} BEMY
waNg eopjoy, gea sdauds VOERLS
407 BEDINg PIDESSIBOINE ST} ¥ BIGE,
nibBrey rjools

3V ld ONIVIB 3

ISV, mmwmqu;/

H

UmOYS 10U ase syeyd dog

pue szl prs Iemd] g
MIA DDIG

(»
BINVGS- E.éssr@

SNINENE uzo.w::a!@

Bl SN W
Y DRI

HMAOD
AOEG SO0 180 DI JO TRONE DI HA. SE0E
U WOROY 0} 10U [jgares aq Jag “Tajonr Swp
Ry BOISUSIXR 08 16850] JoT 80 O8]y«

8wy
P11 YOS A FIRNG YOOIF-UBHI-IHOHG<
:103) dmas spg ashy

de3s su UMOg

| (‘sBupysnyy £6-28 uo Yoajs uayy isbuoy Aensn
@IE SINAS NOM IMIH) PBlEBU 8q pinoys selejd JequiEo BUY) 0] MOY BUILLBIED O] Mojeq SUCHdo By} SUILIBXS Usy ). 1e9 ok Jo JyBisy

8p1 By} pue BINNS NOA jo Wibus| By} BULLIBIEP 1S "SINIE PIOY E@ﬁ@ uely yibus) Jusieyip e ueyo ae syngs soueunouad Yy -

INIALSNray EHOIEH LNYNLS



